
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly
7/5/25

JSG-6CS Closed Stand Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly
7/5/25

Description

Index Number Part Number Description Size Qty

 708598 Closed Stand Assembly Complete  1

1 AB612062 Closed Stand  1

2 TS-0060111 Hex Cap Screw 3/8” x 2-1/2” 4

3 TS-1550071 Flat Washer M10 x 20 9

4 150105 Wheel  4

5 TS-0640091 Nyloc Lock Nut 3/8” 5

6 150103 Stop  2

7 TS-1523031 Set Screw M6 x 10 2

8 612063 Stop Shaft  1

9 PS042400 Spring Pin 4 x 24 mm 1

10 150106 Spring  1

11 150104 Step Plate  1

12 145002 Door  1

13 150503 Lock  1

14 150527 Pad  2

Hardware used to attach the Sander to the Closed Stand   

 AH612J1 Hardware Bag (contains the items
below)  1

 TS-229801 Hex Cap Screw (not shown) M10 x 1.5 x 80 4

 TS-1550071 Flat Washer (not shown) M10 8

 TS-1551071 Lock Washer (not shown) M10 4

 TS-1540077 Hex Nut (not shown) M10 x 1.5 4

Additional Information

Stock Number 708598K-2

https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly
7/5/25

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jsg-6cs-closed-stand-assembly

